
CORDLESS HEDGE TRIMMER Model UH303DST 

10-95 

I M P O R T A N T !  
T o  assure product S A F E T Y  
and R E L I A B I L I T Y ,  repairs 
should be performed by 
M A K I T A  Service Center5 or 
other qualified service 
organizations. Always use 
M A K I T A  replacement parts. 



Part Qty . 
Fig. No. Used Description 

Part Qtv. 
Fig. No. Used Description 

2 182683-9 
3 423134-6 
4 321902-0 
5 226436-7 
6 342819-4 
7 164916-4 
8 262531-9 
9 414380-2 

10 252110-1 
11 226807-8 
12 253077-6 
13 321902-0 
14 629669-7 

15 651852-8 
16 410817-7 
17 414169-8 

2 MODEL UH303DST 

1 
1 
1 
1 
1 
1 
2 
1 
1 
1 
1 
1 
1 

1 
1 
1 - 

HOUSING SET (INCL. FIG. 20) 
SPONGE SEAL 
SHAFT 
HELICAL GEAR 52 
PLATE 
CRANK 
URETHAN SLEEVE 4 
GUARD 
HEXAGONAL NUT M4-10 
GEAR 14-34 
FLAT WASHER 6 
SHAFT 
DC MOTOR 12V (Incl. 1 ea. 
Spur Gear 9, 221922-3) 
SWITCH 
SWITCH LEVER 
LOCK-OFF LEVER 

18 231390-2 
19 655409-7 
20 182683-9 
21 265874-8 
23 192450-4 
24 911258-5 
25 344146-5 
27 251307-9 
28 251329-9 

ACCESSORIES 
400 122483-5 
401 414428-0 
402 192495-2 
403 192491-0 
404 113139-A 

COMPRESSION SPRING 3 
INLET 
HOUSING SET (Incl. Fig. 2) 
TAPPING SCREW 4x20 
GRIP SET (Incl. Fig. 24) 
PAN HEAD SCREW M5X35 
SPACER 
PAN HEAD SCREW M4X15 
PAN HEAD SCREW M4X10 

SHEAR BLADE ASSEMBLY 
BLADE COVER 
ADAPTER CORD NO.l 
BATTERY 122 
CHARGER DC122 

10-95 


